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1.  AOL-Disney Inc. (a new firm formed when the government forced these two to resolve their differences by becoming one firm) has just announced that it plans to begin making quarterly dividend payments.  At the announcement, AOL-Disney’s stock price fell.  What have we studied this semester that would explain this reaction?

2.  Most dot-com companies are losing money these days.  Show graphically and discuss how the optimal capital structure of these firms will change as they (eventually) begin to generate high, more stable profits.

3.  The CEO of Regiswear Inc. (Motto:  Look like a million) is interested to hear you have studied EVA while at Baylor.  Respond to the following statement:  “We pay everyone a fair salary here.  I don’t see how giving a bonus based on EVA will improve things around here.  In fact, the only benefit I see is that as we give our employees a chance at big bonuses, the overall payments our firm makes to employees should fall as we cut their salaries.”

4.  The CEO of Mike Eyesnear Inc. (Motto:  we got content yes we do...we got content how ‘bout you) is concerned that his firm has too little debt in its capital structure.  How would you go about determining whether this is the case?

5.  Your investment portfolio currently consists of 30% T-bills with the remainder invested in the stocks of Amazon.com, Sears, Eli Lilly, and UPS.  You are considering selling your shares in Amazon and investing the proceeds in a stock with a lower expected return and higher risk.  Show graphically and discuss how you might be better off after such a move.

6.  Your firm, Final Answer Inc., is considering acquiring Jeopardy Inc.   Once Jeopardy is a part of Final Answer it is expected to generate net cash flows of $25,000 per month beginning three months from today.  Net cash flows from Jeopardy are then expected to grow by 4% per month through 2 years from today.  Growth is then expected to slow to 0.25% per month forever.  The beta of Jeopardy is 1.5 and for Final Answer is 1.8.  The market risk premium is expected to be 7.2% and the effective rate on a T-bill is 4.81%.  What is the most your firm should pay to acquire Jeopardy?

7.  Your firm is considering investing in a project which if successful can be expanded during the next 5 years at a cost of $100,000.  Based on estimates available today, the expansion is expected to generate net cash flows of $34,000 per year for 10 years beginning one year after the expansion takes place.  Based on the expansion’s beta of 1.4 and the standard deviation of returns on the expansion of 34%, you estimate that the required return on the expansion is 14%.  Note that the expansion is considered somewhat riskier than the initial investment itself which only has a standard deviation of 28% but which requires an investment of $250,000.  The APRs (with continuous compounding) on Treasury Strips are as follows:  1 year = 6.39, 5 year = 6.62, 10 year = 6.55, 15 year = 6.41, 30 year = 5.49.  What impact if any does this possible expansion have on whether the project should be undertaken?

8.  The firm you have just gone to work for, Lifeline Inc. (a firm which helps people find answers to trivial trivia questions), is considering investing in a new project.  Your boss has asked you to estimate the beta of the project using the following information:


Return on:

Economy
Probability
Project
Lifeline Inc. 
S&P500
T-bills
Great
.25
43
34
38
5.5

Ok
.60
17
18
19
5.5

Lousy
.15
-10
-1
-7
5.5
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Solutions

Note:  On essays, the numbers in brackets equal the number of "checks" for each concept.  These checks are converted to a number score (out of 50) using the scale for each question.

1.  1)  Possible that firm not generating any surplus cash [6] (cash flow which exceeds investment needs).

Key => would have to issue securities to raise the funds. [2]

=> not in stockholder interests since after-tax cash flow to stockholders [4] is less than cash raised through sale of securities [2]

Note:  cutting investment in positive NPV projects would be even worse for stockholders [1]

2)  Possible that have surplus cash but stockholders expected management to pursue some action involving less loss to stockholders [2] like:

1)  investing in slightly negative NPV projects [2]

2)  acquiring other firms [2]

3) purchase of financial securities [2]

4) repurchase stock [2]

3)  Firm may have attracted low dividend clientele who are now selling off shares [4]

Scale:  16=50, 10=47, 8=44, 6=41, 4=39, 3=37, 2=35

2.  Note:  
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 is currently zero since no expected tax savings from debt due to losses.

[image: image2.wmf]
Points:  Axis labels [1 each], current 
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= 0 [8], 
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 once more stable profits [4], 
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(Equilibrium) [4], optimal debt for firm [4]

Currently, optimal debt is no debt (based on taxes). [4]

As begin to have high, stable profits, optimal amount of debt increases [4]

=> more likely to use tax shield [4]

=> expected tax savings per $ of debt remains high even if increase debt [4]

=> Also, as begin to realize high, stable profits the distress costs of increasing debt remain low [4]

=> lower chance of bankruptcy [2]

=> less loss of confidence in firm so less chance of lost customers [1], employees [1], credit sales [1].

=> Finally, if also generate surplus cash as generate high, stable profits, an increase in debt helps resolve stockholder-manager conflicts [4].

Scale:  28=50, 25=49, 20=47, 19=46, 17=44, 15=42, 11=41, 10=40, 8=38, 6=36, 4=34, 2=30
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3.  An incentive system based on EVA will keep the managers thinking more like stockholders [6] and less like bondholders [2]

Reasons:

1)  Leads management to examine whether assets are being used effectively [6]

Reason:  excessive assets are expensive [2] since result in capital charge [2] which reduces EVA [2]

2)  Leads to better long-term planning [4]

3)  Can be used to lower levels in company since based on accounting numbers [4]

4)  Reflects wealth creation for stockholders [2]

Note:  Overall compensation may have to rise [4]

Reason => employees now have part of compensation which is risky [4]

=> as increase risk, the employees will demand an increase in pay + bonus to compensate. [4]

Scale:  22=50, 20=48, 18=46, 16=44, 14=41, 12=40, 10=38, 8=36, 6=34, 4=32, 2=30

4.  To get some indication, I might look at the financial leverage ratios.

1)  compare my debt ratio [4] to the industry average [2]

=> if very low [6] relative to the industry, might have too little debt

2) Compare interest coverage ratio [4] to industry average [2]

=> if very high [6] relative to the industry, might have too little debt

I would also look at pre-tax income

=> if high [4], stable [4] profits on which paying lots of taxes, may have too little debt

=> not utilizing tax shield [6]

Scale:  26=50, 23=49, 21=47, 20=45, 19=43, 18=41, 17=40, 12=36, 11=35, 10=34, 6=30

5.  

[image: image6.wmf]
Points on graph:  label on axis [1 each], rf [1], Sears [1], Eli Lilly [1], UPS [1], Amazon [4], New [4], feasible set with original [4], with new [4], optimal risky with original [4], with new [4], line through tangency with original [4], with new [4], optimal combination of risky and risk-free with original [4], with new [4]
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5 (cont).  If new investment has lower correlation [8] with other stocks [1] then get more diversification [8]

New point of tangency may be higher line [4]

=> have more return with same risk on higher line [4]

Scale:  42=50, 30=47, 23=44, 22=43, 20=41, 19=40, 14-15=37, 12-13=36, 10-11=35, 9=34, 8=33, 5=30

6.  Note:  should draw time line.

r = .0481 + 1.5(.072) = .1561 [+8]
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Growing Annuity
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Growing Perpertuity


[image: image10.wmf](

)

(

)

62

.

111

,

57

0025

.

1

04

.

1

000

,

25

CF

21

2

12

1

=

=

[+8]


[image: image11.wmf]62

.

539

,

911

,

5

0025

.

01216

.

2

.

969

,

56

V

2

=

-

=

[+4]


[image: image12.wmf]31

.

927

,

,

427

,

4

1561

.

1

1

62

.

539

,

911

,

5

V

2

0

=

÷

ø

ö

ç

è

æ

=

[+7]

Total = 4,427,927.31 + 715,745.15 = 5,138,672.46 [+2]

7.  Value of expansion = 
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N(d1) = .76115; N(d2) = .48006 [+2 each]
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8.  E(rp​) = .25(43) + .6(17) + .15(-10) = 19.45 [+14]

E(rS&P​) = .25(38) + .6(19) + .15(-7) = 19.85 [+6]
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